
  

NOVEMBER 2021 51118/TEC4A/SER6A 

Time : Three hours Maximum : 75 marks 

SECTION A – (10  2 = 20 marks) 

Answer any TEN questions each in 30 words. 

1. Convert (9B2.1A)H to its decimal equivalent. 

 (9B2.1A)H CuøÚ u\© GsoØS ©õØÓÄ®. 

2. State the advantage of using 2’s complement 

method of subtraction. 

 2ß {øÓÄ •øÓ°À ö\´¯¨£k® PÈzu¼ß 

÷©ßø©ø¯ TÖ. 

3. What do you know about half subtractor? 

 AøμU PÈ¨¤ø¯¨ £ØÔ }Âº AÔÁx ¯õx? 

4. What do you know about Multiplexer? 

 £»øu JßÓõUQø¯¨ £ØÔ }Âº AÔÁx ¯õx? 

5. What are the applications of flip-flops? 

 Flip-flops ß £¯ßPÒ ¯õøÁ? 
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6. State the uses of Shift registers. 

 |PºÄ £vÂPÎß £¯ßPøÍU TÖ. 

7. Define Slew rate. 

 CÊ¨¦ ÂQu® Áøμ¯Ö. 

8. What is an ideal operational amplifier? 

 C»m]¯ ö\¯Ø£õmk¨ ö£¸UQ GßÓõÀ GßÚ? 

9. Define accuracy and resolution of a A/D convertor. 

 A/D ©õØÔ°ß xÀ¼¯® ©ØÖ® £SvÓøÚ £sø£ 

Áøμ¯Ö. 

10. What is Schmitt trigger? State its advantages. 

 ìQªm xsi GßÓõÀ GßÚ? Auß ÷©sø©PøÍU 

TÖ. 

11. What is meant by logic gate? 

 uºUP Áõ°À GßÓõÀ GßÚ? 

12. What is meant by synchronous counter? 

 Jzv¯[S Gso GßÓõÀ GßÚ? 
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SECTION B – (5 × 5 = 25 marks) 

Answer any FIVE questions each in 200 words. 

13. What is BCD code? What are the advantages and 
disadvantages of using 8421 BCD code? State the 
applications of BCD code. Convert BCD 
010101111000 into decimal number. 

 BCD SÔ GßÓõÀ GßÚ? 8421 BCD SÔ±miß 

|ßø©PÒ ©ØÖ® SøÓ£õkPÒ ¯õøÁ? Auß 

£¯ßPøÍU TÖ. BCD 010101111000 u\© 

GsoØS ©õØÖ. 

14. Discuss the function of half adder with suitable 
logic circuit. 

 \›¯õÚ uºUPa _ØÔøÚU öPõsk AøμU Tmi°ß 

÷Áø»ø¯ ÂÁõv. 

15. Describe D flip-flop. 

 D flip-flop øÚ ÂÁ›. 

16. Draw the circuit diagram of an inverting amplifier 
and explain its operation. Derive an expression for 
its voltage gain. 

 ¦μmk ö£¸UQ°ß £h® Áøμ¢x Auß ö\¯Ø£õmøh 

ÂÍUS. Auß ªßÚÊzu¨ ö£¸UPzvØPõÚ 

÷PõøÁø¯ Á¸Â. 
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17. Explain how 555 Timer can be used as an astable 
multivibrator. Deduce an expression for the 
frequency of the output wave. 

 Põ» AÍÂ 555 GÆÁõÖ {ø»¯ØÓ £À»vºÂ¯õP 

£¯ß£kQÓx Gß£øu ÂÍUS. öÁÎ±mk Aø»°ß 

AvºöÁsoØPõÚ ÷PõøÁø¯ Á¸Â. 

18. Perform the given operation: (765)8–(637)8 +(725)16 
Express the answer in octal form. 

 (765)8–(637)8+(725)16 CuøÚ PnUQmk •iÂøÚ 

Gmhi GsoÀ u¸P. 

19. Discuss action of decoder with suitable logic 
diagram. 

 SÔ}UQ°ß ö\¯Ø£õmøh uS¢u uºUP Áøμ£hzøuU 

öPõsk ÂÁõv. 

SECTION C – (3 × 10 = 30 marks) 

Answer any THREE questions each in 500 words. 

20. Convert the following binary numbers to Decimal, 
Hexadecimal and octal form  

 (a) (101101.1101)2 

 (b) (11011011.100101)2 

 ÷©÷» EÒÍ Dμi GsPøÍ u\©, 16 Ai ©ØÖ® Gmhi 

GsPÐUS ©õØÖ.  

[P.T.O.]
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21. Describe the function of a full subtractor and 

obtain expressions for the DIFFERENCE and the 

BORROW Output. 

 •ÊUPÈ¨¤°ß ö\¯À£õmøh ÂÁ›zx Auß 

÷ÁÖ£õk ©ØÖ® CμÁÀö£ØÓvØPõÚ öÁÎ°mk 

÷PõøÁø¯ Á¸Â. 

22. Describe the RS flip-flop and explain its operation 

with truth table. Why is R=1; S=l disallowed in an 

R-S flip-flop. 

  RS flip-flop I ÂÁ› ÷©¾® Auß ö\¯Ø£õmiøÚ 

Esø© AmhÁøn²hß ÂÍUS. RS flip-flop À 

R=1; S=l   Hß AÝ©vUP¨£kÁvÀø». 

23. Explain how an Op-amp can be used as (a) adder, 

(b) an integrator (c) a differentiator, Obtain 

expression for output in each case. 

 ö\¯Øö£ÖUQ GÆÁõÖ 

 (A)  Tmi   

 (B) öuõøP°kÁõÚõP ©ØÖ®    

 (C) ÁøP°kÁõÚõP £¯ß£kQÓx Gß£øu 

ÂÍUS.  
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24. Describe A/D conversion using successive 
approximation method. Write its advantages and 
disadvantages. 

 öuõhºa]¯õÚ ÷uõμõ¯ •øÓø¯¨ £¯ß£kzv   A/D 

©õÖuø» ÂÁ›. Auß ÷©ßø© ©ØÖ® 

SøÓ£õkPøÍ GÊx.  

——————–––––—  


